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1 Question Description Religious ideas of which sect of the Protestant were most conducive to capitalist development?
A Baptist
B Calvinist
c Anabaptist
D Pietist
E None of the above
Correct Answer B

Marks 1



Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

The most vulnerable social groups for poverty are

Scheduled Tribes

Urban casual labourers

Rural agricultural labourers

Scheduled Castes

None of the above

A statement whose validity is tested on the basis of a sample is called?

Null hypothesis

Statistical hypothesis

Simple hypothesis

Composite hypothesis

None of the above



Question Description C Wright Mills once said that sociologists need to develop a sociological to study how society affects individuals.

A Culture

B Imagination

c Method

D Tool

E None of the above

Correct Answer B

Marks 1

Question Description According to Robert Merton, people who reject both the existing values and means of achieving them by attempting to reconstruct a

new social system are called

A Conformists

B Innovators

c Ritualists

D Rebels

E None of the above
Correct Answer D

Marks 1



Question Description Society is a web of social relationships. Who said?

A Marx

B Maciver

c Spencer

D Comte

E None of the above

Correct Answer B

Marks 1

Question Description Sita lives with her working mother, father, younger brother, grandparents, father’s brother and his family. This kind of family
format is:

A Maternal family with Rita’s mother as the head.

B Paternal family with Rita’s Dad as the head.

c A nuclear family where both her parents are working.

D A joint family where all the members live together

E None of the above

Correct Answer D

Marks 1



Question Description Who wrote the book ‘Delinquent Boys’?

A Walter B Miller
B Dloward

c Lloyd E Colin

D Albert Cohen

E None of the above
Correct Answer D

Marks 1

Question Description When was the Kaka Kalelkar Commission constituted by the then President of India?
A 1952

B 1953

Cc 1954

D 1951

E None of the above
Correct Answer B

Marks 1



10 Question Description

11

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Which type of society has more possibility for individual social mobility?

Class based society

Feudal lord based society

Age-grade based society

Caste based society

None of the above

A
1

Who was the author of the book named ‘Methods in Social Research’ ?

Kerlinger

C R Kothari

Goode and Hatt

Wilkinson

None of the above



12 Question Description Which is the effect of over-population?

A Population and poverty
B Low per capita income
c Shortage of income
D All of the above
E None of the above
Correct Answer D
Marks 1

13 Question Description Who described communalism as the Indian version of fascism?
A Gandhi
B Nehru
c Ambedkar
D Bal Gangadhar Tilak
E None of the above
Correct Answer B

Marks 1



14 Question Description Under which Article of the Constitution of India has the National Commission for Scheduled Caste be constituted?

A Article 332
B Article 338
c Article 342
D Article 328
E None of the above
Correct Answer B
Marks 1
15 Question Description Sociology emerged in
A America
B Europe
c Asia
D Africa
E None of the above
Correct Answer B

Marks 1



16 Question Description Which of the following belief systems holds that evil is the result of unrealistic desire?

A Confucianism
B Buddhism
c Jainism
D Islam
E None of the above
Correct Answer A
Marks 1
17" Question Description In the family the ancestors are men.
A Matrilineal
B Patrilocal.
c Patriarchal
D Patrilineal
E None of the above
Correct Answer D

Marks 1



18

Question Description

Correct Answer

Marks

The agencies of globalisation are
1. Multinational Corporations

2. Nation-State

3. Media

4. Market

1 only

1 and 3 only

1,2 and 3 only

All of the above

None of the above



19

20

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Which among the following research method you will select when the area of research will be large?

Participant observation method
Sample survey method
Questionnaire method

Mailing questionnaire method

None of the above

The goal of liberalisation is to

Societal structure based on socialism

Economic reforms

Economic planning

Land reforms

None of the above



21" Question Description When did the term sociology coined?

A 1650

B 1835

c 1838

D 1732

E None of the above
Correct Answer C

Marks 1

22 Question Description Which one of the following is the correct term to explain the practice of wearing certain variety of precious stones with the belief

that they are imbued with powers to protect and help?

A Mawaism

B Animism

c Totemism

D Fetishism

E None of the above
Correct Answer D

Marks 1



23 Question Description Which among the following tribes has started the Tana Bhagat Movement?

= Santhal
B Khasi
c Oraon
D Kuki
E None of the above
Correct Answer C
Marks 1

24 Question Description When a crime is committed by a person of respectability and high social status are known as?
A Blue collar crime
B White collar crime
c Red collar crime
D All of the above
E None of the above
Correct Answer B

Marks 1



25 Question Description Which scheme helps in the prevention of trafficking and provide support for rescue, rehabilitation, reintegration and repatriation of

women?
A Ujjawala scheme
B STEP scheme
c Priyadasrshini scheme
D DWCRA
E None of the above
Correct Answer A

Marks 1



26

27

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

In order to pursue the research, which of the following is priorly required?
Developing a research design

Formulating a research question

Deciding about the data analysis procedure

Formulating a research hypothesis.

None of the above

Who said, “Man is a Social Animal”?

Aristotle

Comte
Plato
Socrates

None of the above



28 Question Description Which one of the following classifications was used by E. Durkheim in his study of religion?

A Holy and unholy
B Ritualistic and radical
c Supernatural and secular
D Sacred and profane
E None of the above
Correct Answer D
Marks 1

29 Question Description Groups which serve as points of comparison.
A In group
B Primary group
c Reference group
D Ideal group
E None of the above
Correct Answer C

Marks 1



30 Question Description Who wrote the book ‘Mind, Self and Society’?

A Homans
B Giddens
c Mead
D Cooley
E None of the above
Correct Answer C
Marks 1
31 Question Description Utility and change are the basic principles of
A Naturalism
B Realism
c Idealism
D Pragmatism
E None of the above
Correct Answer D

Marks 1



32 Question Description People who have spatial intelligence have career scope as:

A Musicians, Singers and Music Composers
B Artists, Designers and Architects.

c Scientists, Mathematicians and Logicians.
D Dancers, Athletes and Surgeons.

E None of the above

Correct Answer B

Marks 1



33 Question Description

Correct Answer

Marks

Which of the following statement best describes the connection between philosophy and education?
Choose the correct answer from the codes given below.

1) The objectives and goals of education have to be decided by our stand on the nature of man.

i1) Learning requires a process of internalisation and acquisition.

ii1) Education should be life itself, rather than a preparation for living.

iv) Education and technology, among other things, influence social transformation.
Codes

1and i1

il and iv

1 and 1i1

1, and 1v

None of the above



34 Question Description Attitudes, values and Interests can be reflected by which of the following domains?

A Cognitive Domain
B Evaluative Domain
c Affective Domain
D Psychomotor Domain
E None of the above
Correct Answer C
Marks 1
35 Question Description According to Edgar Dale’s Cone of Experience, better learning is achieved through
A Dramatic Experience
B Visual symbols
c Direct purposeful experience
D Verbal symbols
E None of the above
Correct Answer C

Marks 1



36 Question Description Match the following:
List I (Condition) List IT (Characteristics)
A. Dysphasia |1. Difficulty in reading
B. Dyscalculia 2. Difficulty in fine motor skills
C. Dyspraxia 3. Language difficulty
D. Dyslexia 4. Difficulty in maths
Codes:
A B C D

(a). 2 4 1 3
(b). 3 4 2 1
(c). 2 3 1 4
(d. 3 4 1 2

A a

B b

Cc c

D d

E None of the above

Correct Answer B

Marks 1



37 Question Description

Correct Answer

Marks

Classroom communication is

. Like a computer program

A

B. Dictatorial
C. Purposeful
D

. Pragmatic

Choose the correct option from those given below:

Aand D
Cand D
Aand B
B,Cand D

None of the above



38 Question Description The type of grading in which grades are assigned accoriding to cut-off levels decided before the start of the program is

A Direct Grading

B Indirect Grading

c Absolute Grading

D D. Relative Grading
E None of the above
Correct Answer C

Marks 1



39 Question Description Constructivist approach to teaching —learning process is being emphasized at all levels of education. Which of the following

method or methods are mainly based on the approach?

A Lecture method
B Project method
c Discussion method
D All of the above.
E None of the above
Correct Answer A
Marks 1
40 Question Description In the teaching -learning process the following is done first
A Determination on of strategies
B Task analysis Placement, Formative Diagnostic, Summative Evaluation
c Determination of Objectives
D Writing Objectives
E None of the above
Correct Answer B

Marks 1



41 Question Description The stage according to Piaget when infants think with their eyes, ears and hands is

A Concrete operational stage
B Preoperational stage
c Sensorimotor stage
D Formal operational stage
E None of the above
Correct Answer C
Marks 1
42 Question Description Communication in the class fails because:
A The students are inattentive.
B The teacher is monotonous in delivering the message.
c The students have no interest in the lesson being taught.
D There is much noise in and around the classroom.
E None of the above
Correct Answer B

Marks 1



43 Question Description Assertion (A): Formative assessment tends to accelerate the process of learning.
Reason (R): As against summative evaluation. Formative assessment is highly reliable.

Choose the correct answer from the following code:

A Both (A) and (R) are true, and (R)is the correct explanation of (A).

B Both (A) and (R) are true, but (R) is not the correct explanation of (A).
c (A) is true, but (R) is false.

D (A) is false, but (R) is true.

E None of the above

Correct Answer C

Marks 1



44 Question Description

A

Correct Answer

Marks

A predominantly heredity related factor is

Attitude towards peer group

Thinking pattern

Color of the eyes

Participation in social activities

None of the above



45 Question Description

Correct Answer

Marks

If

I. Community

II. Family

[II. Peer Group

IV Formal Educational Institution

then the major socialisation agencies are
II, IIT and IV

LLIL, IT and IV

I and 111

I, I and T1T

None of the above



46 Question Description According to Jean Piaget’s theory of Cognitive development, at which stage, children’s thinking becomes scientific?

A Sensorimotor

B Pre-Operational

c Concrete Operational
D Formal Operational
E None of the above
Correct Answer D

Marks 1



47

Question Description

Correct Answer

Marks

Match List- I and List- 11

List-I List-IT
(Characteristics) (Philosophy)
(A) Learning by doing (i). Naturalism
(B) Education through environment  (i1). Pragmatism
(C) Self-actualisation (111). Humanisism

(iv). Idealism
Codes:

A<(i), B=(ii), C-(iv)

A~(ii), B-(iii), C-(i)

A-(ii), B-(i), C~(iii)

A~(ii), B-(iii), C-(iv)

None of the above

C
1



48 Question Description The most important aspect of effective Communication is

A The senders ability is to articulate
B The use of persuasive techniques
c The receivers ability to understand the message
D The use of complex vocabulary
E None of the above
Correct Answer C
Marks 1
49 Question Description Modern education strategies, including National Education Policy 2020, emphasises that students ought to learn in schools through
A Conditioning
B Passive imitation
c Direct instruction
D Discovery and exploration
E None of the above
Correct Answer D

Marks 1



50 Question Description Which of the following are used in the educational system as ICT-based tools for assessment.

A e-Pathshala and e-portfolio
B e-portfolios and e-rubrics
c eBasta and e-Pathshala

D eBasta and e-rubrics

E None of the above

Correct Answer B

Marks 1



51 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions given below: -

Curiosity properly so-called, on the other hand, is inspired by a genuine love of knowledge. You may see this impulse, in a
moderately pure form, at work in cat which has been brought to a strange room, and proceeds to smell every corner and every piece
of furniture. You will also see it in children, who are passionately interested when a drawer or cupboard which is usually closed is
opened for their inspection. Animals, machines, thunderstorms, and all form of manual work, arouse the curiosity of children,
whose thirst for knowledge, puts the most intelligent adult to shame. This impulse grows weaker with advancing years, until at last
what is unfamiliar inspires only disgust, with no desire for a closer acquaintance. This is the stage at which people announce that the
country is going to the dogs, and that ‘things are not what they were in my young days.” The things which not the same as it was in
that far-off time is the speaker’s curiosity. And with the death of curiosity we may reckon that active intelligence, also has died.

The immediate outcome of advancing age vis-a-vis curiosity as stated in the passage is the following:
the unfamiliar inspires disgust

there is lack of desire to know the unfamiliar

the thirst for knowledge becomes weaker

death of curiosity occurs

None of the above



52 Comprehension

Question Description

Correct Answer

Marks

Read the following passage and answer the questions given below: -

Curiosity properly so-called, on the other hand, is inspired by a genuine love of knowledge. You may see this impulse, in a
moderately pure form, at work in cat which has been brought to a strange room, and proceeds to smell every corner and every piece
of furniture. You will also see it in children, who are passionately interested when a drawer or cupboard which is usually closed is
opened for their inspection. Animals, machines, thunderstorms, and all form of manual work, arouse the curiosity of children,
whose thirst for knowledge, puts the most intelligent adult to shame. This impulse grows weaker with advancing years, until at last
what is unfamiliar inspires only disgust, with no desire for a closer acquaintance. This is the stage at which people announce that the
country is going to the dogs, and that ‘things are not what they were in my young days.” The things which not the same as it was in

that far-off time is the speaker’s curiosity. And with the death of curiosity we may reckon that active intelligence, also has died.

Read the following statements and place them in correct sequence, based on
the implication of the passage:

(1) At this stage people announce that the country is going to the dogs

(i1) With the death of curiosity, active intellect is dented.

(ii1) The thing which is no longer the same is the individual’s curiosity

(iv) This impulse grows weaker with advancing years
(iv); (iid); (1); (i1)

(iv); (ii); (i1); (1)

(1); (ii); (iv); (ii)

(iv); (ib); (iid); (1)

None of the above

A
1



53 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions given below: -

Curiosity properly so-called, on the other hand, is inspired by a genuine love of knowledge. You may see this impulse, in a
moderately pure form, at work in cat which has been brought to a strange room, and proceeds to smell every corner and every piece
of furniture. You will also see it in children, who are passionately interested when a drawer or cupboard which is usually closed is
opened for their inspection. Animals, machines, thunderstorms, and all form of manual work, arouse the curiosity of children,
whose thirst for knowledge, puts the most intelligent adult to shame. This impulse grows weaker with advancing years, until at last
what is unfamiliar inspires only disgust, with no desire for a closer acquaintance. This is the stage at which people announce that the
country is going to the dogs, and that ‘things are not what they were in my young days.” The things which not the same as it was in
that far-off time is the speaker’s curiosity. And with the death of curiosity we may reckon that active intelligence, also has died.

The phrase ‘this impulse’ in the passage refers to
genuine thirst of knowledge

curiosity

active intelligence

passionate interest

None of the above



54 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions given below: -

Curiosity properly so-called, on the other hand, is inspired by a genuine love of knowledge. You may see this impulse, in a
moderately pure form, at work in cat which has been brought to a strange room, and proceeds to smell every corner and every piece
of furniture. You will also see it in children, who are passionately interested when a drawer or cupboard which is usually closed is
opened for their inspection. Animals, machines, thunderstorms, and all form of manual work, arouse the curiosity of children,
whose thirst for knowledge, puts the most intelligent adult to shame. This impulse grows weaker with advancing years, until at last
what is unfamiliar inspires only disgust, with no desire for a closer acquaintance. This is the stage at which people announce that the
country is going to the dogs, and that ‘things are not what they were in my young days.” The things which not the same as it was in
that far-off time is the speaker’s curiosity. And with the death of curiosity we may reckon that active intelligence, also has died.

Identify the figure of speech in the following statement: “the country is going to the dogs”
personification

simile

euphemism

antithesis

None of the above



55 Comprehension Read the following passage and answer the questions given below: -

Curiosity properly so-called, on the other hand, is inspired by a genuine love of knowledge. You may see this impulse, in a
moderately pure form, at work in cat which has been brought to a strange room, and proceeds to smell every corner and every piece
of furniture. You will also see it in children, who are passionately interested when a drawer or cupboard which is usually closed is
opened for their inspection. Animals, machines, thunderstorms, and all form of manual work, arouse the curiosity of children,
whose thirst for knowledge, puts the most intelligent adult to shame. This impulse grows weaker with advancing years, until at last
what is unfamiliar inspires only disgust, with no desire for a closer acquaintance. This is the stage at which people announce that the
country is going to the dogs, and that ‘things are not what they were in my young days.” The things which not the same as it was in
that far-off time is the speaker’s curiosity. And with the death of curiosity we may reckon that active intelligence, also has died.

Question Description The passage seems to make use of analogy to make its point. Select from the options given below the pair of subjects that aptly

illustrates the use of analogy.

A curiosity and knowledge
B children and adults

c cat and children

D old age and view of past
E None of the above
Correct Answer C

Marks 1



56 Question Description When is World Elephant Day observed?

A August 12
B September 5
c August 13
D October 20
E None of the above
Correct Answer A
Marks 1

57 Question Description Operation ‘Broader Sword’ to combat illegal trade is a joint operation between which two countries?
A India and USA
B Mexico and USA
c India and Nepal
D USA and Ukraine
E None of the above
Correct Answer A

Marks 1



58 Question Description On which date is World Paper Bag Day celebrated?

A July 12
B June 12
c May 12
D April 12
E None of the above
Correct Answer A
Marks 1
99 Question Description Where was the world-famous Shravani Mela inaugurated?
A Deoghar
B Mumbai
(o Hyderabad
D Haridwar
E None of the above
Correct Answer A

Marks 1



60 Question Description Which country won the 2023 FIFA Women’s World Cup?

A Spain
B England
c Germany
D Sweden
E None of the above
Correct Answer A
Marks 1
61" Question Description Which state government has doubled the insurance cover under the Pradhan Mantri Jan Arogya Yojana (PMJAY)?
A Gujarat
B Andhra Pradesh
(o Bihar
D Meghalaya
E None of the above
Correct Answer A

Marks 1



62 Question Description India has banned the export of which cereal?

A Moong Dal
B Pearl Millet
c Non-Basmati white rice
D Wheat
E None of the above
Correct Answer C
Marks 1
63 Question Description Who is the chairperson of the 19-member National Syllabus and Teaching Learning Material Committee (NSTC) established by

NCERT to revise textbooks for classes 3 to 12?

A Sudha Murthy

B Sanjeev Sanyal

c Shankar Mahadevan
D MC Pant

E None of the above
Correct Answer D

Marks 1



64 Question Description In which city was India's first Vedic-themed park unveiled?

A Faizabad
B Jhansi
c Noida
D Pune
E None of the above
Correct Answer C
Marks 1
65 Question Description Which two countries are hosting the FIFA Women's Football World Cup - 2023?
A Kenya and Australia
B India and Australia
c Sri Lanka and New Zealand
D Australia and New Zealand
E None of the above
Correct Answer D

Marks 1



66 Question Description Select the missing from the given alternatives:

714132 N

83| 5| 4|32

9135 2|47

A 2 and 51

B 4 and 40

c 2.5 and 24

D 2.5 and 32

E None of the above
Correct Answer D

Marks 1

67



68

Question Description

Correct Answer

Marks

Directions: When a word and number arrangement machine is given an input line of words and numbers, it rearranges them
following a particular logic at each step. Below given is an illustration of the same.

Input: grief 37 myth 84 rubbish 53 constant 45 persistence 26

Step I: persistence 26 grief 37 myth 84 rubbish 53 constant 45

Step II: constant 37 persistence 26 grief myth 84 rubbish 53 45

Step III: rubbish 45 constant 37 persistence 26 grief myth 84 53

Step IV: myth 53 rubbish 45 constant 37 persistence 26 grief 84

Step V: grief 84 myth 53 rubbish 45 constant 37 persistence 26

Step V is the last step of the arrangement.

On the basis of above illustration find the various steps of arrangement for the input given below.

Input: label 51 rhythm 22 sabotage 82 complete 91 sufficiency 16

What is the position of ‘sabotage’ with respect to ‘91 in step V?

Second to the left

Immediate right

Second to the right

Third to the left

None of the above



Question Description Directions: Read the paragraph carefully and answer the question given below.
There are reportedly about 70,000 public libraries in India, many already or nearly defunct. The Centre and State governments must
share the blame for this plight. It has been some time since a Union or State budget set aside a meaningful amount for improving
library infrastructure. The onus falls squarely on the Government to make sure its people, especially students and the poor, have

enough avenues to sit together, read and learn.

Which of the following statements strengthen the argument for the government being responsible for investing in public
libraries?

I. Libraries help build an enlightened citizenry.
II. Private parties may not be interested in investing given the non-profit nature of libraries.

II1. The government has limited budget capacity and most of this is utilized in important education related schemes which have a

wider reach amongst the vulnerable sections.

A Only 1T

B Only III

c Only [ and II

D Only I and III

E None of the above
Correct Answer C

Marks 1



69

70

Question Description

Correct Answer

Marks

Directions: These questions are based on the following information, read the comprehension carefully to answer the given

questions.

Eight persons A, B, C, D, E, F, G and H live on eight different floors from bottom to top such as ground floor is numbered as 1 and
top floor is numbered as 8.

C lives on an even numbered floor. Only three people live between C and D. Only five persons live between H and E, and both live
on odd numbered floors and H lives above C. Both F and G live above A. F lives somewhere above G. H lives above B. Three
persons live between A and B, who lives on an even numbered floor.

Four of the following five are alike in a certain way and so form a group. Find the one which does not belong to that group?

D

None of the above



Question Description In the question, a piece of paper is folded and cut as shown below in the questions figures. From the given option figures, which one
indicates how it will appear when opened.

4 Y
Pl
_.-/ _.-/
(Al D]
ol o o ke 4 (o] [e] A oo
®
= O 5 o598 D o 0 & =4
®)
o oWy % C? - QQ
oflo Qol0% olo -
A A
B B
c C
D D
E None of the above
Correct Answer C

Marks 1



71 Question Description

Select the mirrorimage of the following figure from the options provided below:

M
WA E
N
Al ol
AN AN Ay AN
A A
B B
c C
D D
E None of the above
Correct Answer D

Marks 1



72 Question Description

Select the correct combination of mathematical signs to replace * signs and to balance the
following equation:

8*8*1*7=8

lx++ Btx+ [gex+ [Dtx=

A A
B B
c C
D D
E None of the above
Correct Answer C

Marks 1



3 Question Description Directions : In question, some statements are given, followed by two conclusions I and II. You have to consider the statements to be
true, even if they seem to be at variance from commonly known facts. You have to decide which of the given conclusions, if any,
follow from the given statements. Indicate your answer.

Statements :

Only a few teachers are doctors.
0% teachers are lawyers.
Conclusions :

I. All lawyers are teachers.

II. Some doctors are not lawyers.

A If only conclusion I follow

B If only conclusion II follow

c If neither conclusion I nor conclusion II follows
D If both the conclusions follow

E None of the above

Correct Answer B

Marks 1



74 Question Description

Correct Answer

Marks

Find the missing number
31433607

99

90

100

95

None of the above



75 Question Description In a class, there are 36 very tall boys. If these constitute three-fourths of the boys and the total number of boys is two-thirds of the
total number of students in the class, what is the total number of girls in the class?

A 36

B 72

c 24

D 48

E None of the above
Correct Answer C

Marks 1



